EARAZROREIERT — 2 N—XBISY —F 201857108 (k) 8EIEIR2H

m Ty XIN—T#EER A21 YR —#% ‘ (%] B ‘ (3ershl]  — | & (%) 15000 &
[A&4£] 1 7% :600,000 ™ ~ 23#&:138,000 W ~ 3#&:72,000 ~ 43#&:54,000™ . 5 3&:36,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 FATIYRE— # 8 ?é’%*ﬂ 1:(35).1 6-5-3-3 [37.9| — | 2 | 494 EE@% (&3R)
QFLITIVR A R—LA A=Y S penyvery
2 I NEE= i 7 || L 1:(:38.9 N-11-11-8 [ 37.1 | — | 4 | 467 gg;&% (£iR)
LA LINT Ry IR B:3%/8LF—F (42) e EE 45035
N NECESCIAL: Ho4 ;';%OEEHJ 1(:13/62.>0 2221 |39.1| — | 1 | 500 %5?@;15;?
QYZRE-IZRE— Biv LT-YyT M0 | o 2%
=+ S . 77 _ 3 N
4 h=—F4rvy b R s 1(.13;32.)1 7-71-7-5 | 38.2 5 (4_722) L?Eﬁ&mg(ﬁﬁ)
LV v TRy b BTEMS AR O4 Y77 —LFHEXE
5 EALHIET—% M7 E%_E(ﬂ)%b‘a 1:(316).3 3-4-5-4 | 39.2| — 3 | 487 %ﬁ%ﬁw
QANRATLYT B EHNE LT — 4| s
o|a|12] 71303 = R I T e R e R R e
LTANWNGTTFY— BXAFIXMLY EvJiLy RT77—L4L
717110l F1 5 —3 %1 b Ho4 g’zéF(')IﬁHz (11316/2% 5-6-6-7 |39.2| — 7 <4+439) %;‘;ET%E (&R
LHIRTA TR B:TIAMIT—Y INT S
. R EE =} . 10_1(—. _ e 3]
gl7lo SR E A 4 9 gglg% (11.317/.22) 12-12-10-10| 38.4 8 (5;130) %ﬁfgéﬁﬁ)
L:HVXRT v 7 B4y Frhoay ry > aEERKSH T avk
ol 11|81 FT205 o7 é%f%’féﬁ 1:(327).6 10-8-8-9 [39.4| — | 10 | 450 /Eﬁ}g;%% (&R)
QT AT FAFTH BT Tr—F1 )| eekmrass
10516 YL A4—XTYLy 4 4 %%%$ 1:(328).0 8-9-12-12 [ 39.3 | — 11 463 ’é‘(g)ﬂ%;%g)ﬁ
QRIS Bix—THFILT 0| xyiiss
1 7| by TTraT # o5 glgfsgktm 1(:13/82.>l 9-10-9-11 | 39.5| — | 12 (4_643) iﬁ(%ﬁg ’(%;;?)l\ Cone
RIVINATA—H— B:74—E—Fh ppaisla % e
: - T . 33 _ 2 (&)
1olgli1| ¥ 1 p—xn-E- t> 5 54(’—3*5527\ (12.318/.26) 4-3-3-6 | 41.5 9 ff) iiﬁ%ﬁm
LI NATA—h— BUTINITARITA 3> HRSE EH77—L4

® 1 —F—@EBIBfL

12=2r= 12,4,3,11,10,2,8,6,7,1,5,9
2al=3r= 12,4,11,3,2,10,8,1,6,7,5,9
J=zr= 12,4,(2,11),3,10,8,1,7,9,5,6
43 —F— 4,12,2,3,8,11,10,5,1,9,7,6
o LRE
BB 2 300H 714K 2-5 450M B & 2-5 1,340H 3EE 2-4-5 1,160M
7 B 2 160 2-4 270M B B 2-5 3,250M HEH 2-5-4 8,760M
5 170 4-5 340M 5 = 2-5 1,130
4 130M BB 2-5 1,890

ABICOVWTRDTEEERROODE. TR LIV,



